Model Question of SSC Examination-2016 (All Board)
Mathematics Subject Code [1]0]9]

Time — 2 Hours 10 Minutes (Creative) Full marks — 60

B - gure in the right margin indicate full marks. Answer six questions in total, taking two from Algebra part, two from
B T tj}r:?ome:g pamr.r, ragne from Tr;éonomerry and Mensuration part and one from .S'ran{'ms part.]

Group-A: Algebra

(Answer any two of the following questions) 10x2=20

1. GivenU={3,4,5,6,7},P={3,4,5,},Q={4, 5, 6} and

R=PnQ 3

a. Write the methods of describing sets. 2

b. Determine P(P n Q) and R x Q. 4

¢. Using venn diagram show that, (P U Q) =P' n Q". 4

2.» Given a, b, ¢ are ordered proportional.

a. What type of proportional b and ¢? 2

b. Prove that, a’b*c? (E}’; +Fl; + El"_;) =a’+b’+ ¢’ 4

a2 4 13

c. If T a(a + b), then prove that a, b, ¢ are ordered

proportional. 4

3.» Given 5 + x +y+ 135 is a geometric series.

a. The first term of arithmetic series be a and the common
difference be d. Find common term of arithmetic series. 2

b. Find the value of x and y? 4

c. Showthat ’+2°+3*+ . +n’=(1+4+2+3+...+n? 4

Group-B: Geometry
(Answer any two of the following questions) 10x2=20

4.» A

B ¢

Given ZACB > ZABC |
a. In triangle ABC, Pythagoras theorem is applicable or not,
why? 2
b. Prove that, AB > AC, 4
¢. IfD is the mid point of BC. Prove that, AB + AC > 2AD. 4

S.» Given an arc BC of a circle subtending angles Z/BOC at

the centre O and ZBAC at a point A of the circle ABC.
a. Draw the figure with above information. 2
b. Prove that, ZBOC =2/BAC. 4
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¢. Two chords AB and CD of a circle interest at an interior
point E. Prove that, the sum of the angles subtended by the
arcs AC and BD at the centre is twice ZAEC. 4

6.» The base of a triangle, the base adjacent an acute angle
and the difference of the other two sides are given.

a. Define Acute and Obtuse Angles. 2
b. Construct the triangle and write the description. 4
c. To draw a circle inscribed in a triangle and write the
description. 4
Group-C: Trigonometry and Mensuration
(Answer any one of the following questions) 10x1=10
7.» "\
90°
B =G
a. IfsinB 2%, find the value of tanB? 2
b. If/2 cos(A — B) = 1,2 sin(A — B) = 3, find the values of
A and B, according to the stem. 4
2 tanA
c. Prove that, tan2A = 20 7, when A = 30°, 4
1 —tan“A

8.» ABCD is a square whose length of each side is 24 m. and
AED region is a half circle.

a. Describe the above information with a figure. 2
b. Determine the area of the whole region. 4
¢. How many stones will be required to cover the square

region with square stones of 40 cm each? 4
Group-D: Statistics (Mandatory) 10x1=10

9.» Frequency distribution table of the marks obtained in
mathematics of 50 students of class X are provided.
Class interval [ 31-40| 41-50| 51-60| 61-70| 71-80| 81-90[91-100

Frequency 7 8 10 11 5 6 3
a. Which is the median class. 2
b. Find the mean from the table in short-cut method. 4
¢. Draw frequency polygon of the presented data in frequency
distribution table. | 4

. (b) {{4, 5}, {4}, {5}, 6} and {(4,4), (4, 5), (4, 6). 5. . _ .1 _ - e
4),(5,5),(5,6)) L e Ty
- t {:H] Simp]e p!’ﬂpf}ﬁiﬂﬁﬂ] 8. {b] 202.20 sq.m I[appmx} {C} 3600
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Multiple Choice Questions

Full marks— 40 Subject Code

{NB. Answer all the questions, Each question carries one mark. Block fully, with a ball-paint per, the circle of the letter that stands for the correct/best
answer in the "Answer sheei” for mj{g’pk chaice questions .Emmina:fg:n.'j&'mdmms af": mﬁe (4

Time — 40 minutes

1. Which one is the correct decimal form
1,
35"
@ 48 ® 49 © 50 @ .47

2. Which one is a irrational number?

34 ® 14
© 144 @ 324
3. Who invented the set?
® George Cantor ® Pythagoras
© Ptolemy @ Lami
4, IfP = {x:x is a factor of 16} then which
one is the correct?
{1,2,4,8} ® (2,4,8,9}
© {2,4,8,16y @ {1,2,4,8,16}
5. Ifx+Ly+1)= (3x-3,2y-1),
what is the value of x and y?
©® (-2,2) @ (-2,-2)
6. IfA={4,3}and B={6,2} then AxB="?
{(4,2),(4,6),(3,2)}
® {(4,6),4,2),3,2)}
© (4,2),(4,6),(3,2),(3,6)
@ {(4,6),(4,2),(3,6),(3,2)}
If x + y =4 and Xy = 6. In respect of the given
information answer the q‘uesticns 7-8.
7. Find the value of x* + y*,
40 ®2 ©®4 @ 28
8. What is the value of X’ + y° + 6(x — y)*?
@64 @ -64 © 56 @ -56

9, Ifx=43+4/2,find the value of * +;l:?

@10 ®12 ©14 @ 16

10. Which is the factor of 6x* — 19x + 10?
(2x-5)(3x+2) ® (2x-5)(3x-2)
© (2x-2)(3x+2) @ (2x-5)(3x+5)

11, If f(x) = x* = 4x* + 3, find the value of
f(-2)?
| ® 2 © 3 @ 4

12. Which is correct for simple profit?
P=Inr ® C=Pnr
© P=Pnr @ I=Pnr

13. Iflog, 16 =2, what is the value of x?
4 ®5 ©4 @ -5

14. If 4* = 256, then what is the value of x?
2 ® 4 © 8 @ 16

15. Which one of the following is the lowest
F]

x —_
»
form of X t+2xy+y
Xy XTy
2xy ® 2X=-y

16.

17.

18.

191-

20.

21

22,

23.

d mot to leave any mark or spot on the guestion paper. [
X+ X —
& B
If a book is sold at Tk. 22, there is a
profit of 10%. What was the cost price
of the book?
@10 ® 20 © 30 @ 40
Observe the following information:
i. A point is that which has no part.
ii. A line has no end point.
iti. A surface is that which has length and
breadth only.
On the basis of information above,
which one of the following is correct?

@ iand ii ® ii and iii
© 1 and i @ i, ii and 1ii
On what condition 2° = 1?

@ ax0 ® a=0

© a>0 @ a=l

Which one of the following is correct
for reflex angle 87
@ 2n<B<4n ® n<b<2n

©® 3<0<n @ 2x<0<3x

If tan A + secA =§ , what is the value of

secA - tan A?

4 2
® 3 ® 3
5 3
©3 @3

Which one of the following is the area
of the circle?

@ 4nr’ ® nr

© 2ar @ nr

How many independent data are
required for construction of a definite

quadrilateral?
four ® three
© two @ five

Observe the following information:

I. A straight line can intersect a circle in
more than two points.

ii. All equal chords of a circle are
equidistant from the centre.

iii. The diameter is the greatest chord of a
circle.

On the basis of information above,

which one of the following is correct?

@ iand ii ® ii and iii

© i and iii @ i, ii and iii
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[ ] C

4

Answer the question number 24-26 with
given above statement.
24. What is the value of AB?
i ®4 ©S5 @6
25. What is the value of cosecB — cotB?
3 3 1 1
s ®7 ©7 ©3

26. What is the value of tanB?

®3 ®7 ©F @
A
4 8
B L [ ¢

Answer the question number 27-29 with
given above figure.
27. Find the value of h?

@ N2 ® 1242
© 152 @ 182

28. If ZACB = 30° and BC = 75, find the

value of h?
@ 153 ® 1033
@ 25¢3

© 153

29. If ZACB = 60° and h = 105, find the

value of BC?
® 353

154/3
© 453 @ 253

30. The ratio of present ages of father and
son is 7 : 2, if father's age is 35, what is
the son's age?
10 ® 20
© 5 @ 15

31. If the ratio of two numbers is 3 : 4 and
their L.C.M. is 180, find the two

numbers?
10, 30 @ 80, 40
© 60, 30 @ 45, 60

32. The ratio of rice and husk in paddy to 7
: 3. What is the percentage of rice in it?
60% ® 70%
© 80% @ 90%

33. Observe the following information:

i. The equations 2x -y =0 and

x — 2y = 0 are mutually dependent.

il. Graph of the equation x -2y + 3 =10
passes through the point (-3, 0).

iii. Graph of the equation 3x +4y =1 isa
straight line.

On the basis of information above,

which one of the following is correct?

@ iand ii ® ii and iii

© i and iii @ i, il and i
M, 1+2+3+..+50="?

@ 1175 ® 1275

© 1075 @ 1375

35. 8§+ 11 + 14 + 17 + ...... Which term of

the series is 3927
@ 128 ® 127
© 129 @ 130
36. What is the general term of the series
128 + 64 + 32 + ......7

® 33 ® 3
© 7 ® 3
A frequency distribution table is given below :
Class Interval Frequency

40 - 44 5

45 - 49 4

50 - 54 7

55-59 3

60 - 64 6
Total 25

According to the above table answer the

question no (37 — 38).
37. What is the class interval of the presented

data?
@ 4 ® 5
© 6 @ 7

38. What is the mode class of the presented
data?
40-44 @ 45-49
© 50-54 @ 55-59
The length of diagonal of the surface of a
cube 1s Bﬁ cm .
Answer the question number 39-40 with
given above statement.

39. Find the length of its diagonal.

@ 82 cm ® 83 cm
© 9'\.5 cm (@ ‘)\ﬁ cm

40. Find its volume.
® 512 cm’

412 cm®
© 624 cm’ @ 724 cm’

@ |
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